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; 100kN/m#%#BZ25| 1.00| 000 ~ 277 14377 |3mZEBzE| — ~ — — — | 100kN/mi%# 825 | 1.00 | 1081 ~ 2878 | 143.77 |3m&EHBZS -~ — — —
Zh st 1.00| 277 ~ 1056 100.00 | ThLS | 000 ~ 1056 2.90 15.50 Fhst 1.00 | 56.00 ~ 1081 100.00 | #hst | 5.00 ~ 2878 2.90 15.50
2 100kN/m%#BZ25| 1.00| 000 ~ 263| 141832 |3mZEBzE| — ~ — — — | 100kN/Mi%E#BZ5 | 1.00 | 1099 ~ 2878 | 141.32 |3mEHEZS -~ — — —
Zhst 1.00 | 263 ~ 1041 100.00 | #nLst | 0.00 ~ 1041 2.86 15.30 Fhs 1.00|5.00 ~ 1099 100.00 | =ns | 5,00 ~ 2878| 2.86 15.30
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ZhLlst ~ ZnLs ~ Zh LS ~ zh st ~




